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’ 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 000 ~ 6.31 79.28 | Fnlist | 000 ~ 631 1.79 9.60 ZznLst 1.00 | 500 ~ 740 79.28 | #hList | 500 ~ 740 1.79 9.60
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 6.79 8582 | #nList | 000 ~ 0.00| 1.68 9.00 ZznLst 1.00 | 500 ~ 8.40 85.82 | #nkl4t | 500 ~ 840 | 1.68 9.00
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 7.04 89.29 | #nList | 000 ~ 0.00 | 1.67 8.94 ZznLst 1.00 ] 500 ~ 9.00 89.29 | #nkl4t | 500 ~ 9.00| 1.67 8.94
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 6.58 8298 | #nList | 000 ~ 0.00 | 1.71 9.16 ZznLst 1.00 ] 500 ~ 790 8298 | #n st | 5.00 ~ 790 1.71 9.16
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 579 7235 | N4t | 000 ~ 579 1.95 10.45 ZznLst 1.00] 500 ~ 7.10 7235 | Fhst | 500 ~ 710 1.95 10.45
" 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 7.69 9862 | N4t | 000 ~ 7.69| 1.94 10.39 ZznLst 1.00 ] 500 ~ 12.10 98.62 | #nlist | 500 ~ 1210 | 1.94 10.39
; 100kN/m#%#82x%| 1.00( 0.00 ~ 0.69 110.21 |3mZEZ 5 -~ — — —| 100kN/m%#E%%| 1.00 [11.62 ~ 14.30 110.21 |3m%#BZ 5 -~ — — —
ThLS 1.00 | 069 ~ 847 100.00 | #hust | 000 ~ 847 1.99 10.65 ThLS 1.00| 500 ~ 11.62 100.00 | #h a5t | 5.00 ~ 1430 | 1.99 10.65
g 100kN/mi#%#%%| 1.00| 0.00 ~ 0.69 11021 [3mZ#BZ 5 -~ - - —| 100kN/mi%#8 %% | 1.00 |[11.62 ~ 14.30 11021 [3mZE# x5 -~ - — —
ThLS 1.00 | 069 ~ 847 100.00 | #hust | 000 ~ 847 1.99 10.65 ThLS 1.00| 500 ~ 11.62 100.00 | #h a5t | 5.00 ~ 1430 | 1.99 10.65
9 100kN/mi#%#%5%| 1.00]| 0.00 ~ 0091 11357 [3mZi#BZ 5 -~ - - —| 100kN/mi%#8 %% | 1.00 |[11.43 ~ 15.00 113.57 [3mZ# x5 -~ - — —
ThLs 1.00 | 091 ~ 869 100.00 | #h st | 0.00 ~ 869 | 2.00 10.73 ThLs 1.00| 500 ~ 1143 100.00 | #h ka4t | 5.00 ~ 15.00 | 2.00 10.73
10 100kN/mi#%#%5%| 1.00]| 0.00 ~ 0091 11357 [3mZi#BZ 5 -~ - - —| 100kN/mi%#8 %% | 1.00 |[11.43 ~ 15.00 113.57 [3mZ# x5 -~ - — —
ThUS 1.00 | 091 ~ 869 100.00 | #h st | 000 ~ 869 | 2.18 11.65 ThLs 1.00| 500 ~ 1143 100.00 | #h ka4t | 5.00 ~ 1500 | 2.18 11.65
» 100kN/mi#%#%5%| 1.00| 0.00 ~ 067 110.01 [3mZ#BZ 5 -~ - - —| 100kN/mi%# %% | 1.00 |[12.09 ~ 15.00 110.01 [3mZE# x5 -~ - — —
ThUS 1.00 | 067 ~ 8.46 100.00 | #hust | 000 ~ 846 | 2.13 11.39 ThLs 1.00 | 500 ~ 12.09 100.00 | #h ka4t | 5.00 ~ 1500 | 2.13 11.39
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
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